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Final exam, High-dimensional Data Analysis, 2018 Spring [+32 points]

Not only answer but also calculation Name:

1 Z Q1 Ridge regression [+8]: Consider a model without an intercept:
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J] (4) [+1] Calculate the ridge estimates under the chosen value of A.
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Q2 Splines [+8]: Let f(x)= Zﬁ M (x), where M, (x)’s are the spline basis functions. For a knot

sequence & <&, <& with A= —& =& ~& let z(f) =(t=E)A for i=1,2, and 3

%/7/@1) [+2] erte J f ”(x) dx interm of a quadratic form for B=(8,...,5,)" .
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Q3 Compound covariates [+8]: Consider a model without an intercept:
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Q4 Cross-validation [+8]: Data is given below:

T ‘;'/(3) [+2] Compute the training MSE
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